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1 a) Identify the three elements within the formula for photosynthesis. (3 marks)

b)  Name the plant pigmentinvolved in photosynthesis. (1 mark)

2 Precipitationis one of the processes in the hydrological cycle.

a)  Name two examples of precipitation in the hydrological cycle. (2 marks)
b) Name two other processes involved in the hydrological cycle. (2 marks)
3 Describe the differences between anaerobic respiration and aerobic respiration. (4 marks)
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The nitrogen cycle and the carbon cycle are two important biogeochemical cycles.

a)  Explainhow carbon enters and leaves the atmosphere.

b) Name two natural agents that fix atmospheric nitrogen.

Name one from each of the following. A type of
a)  soil comprising varying amounts of sand, silt and clay

b) rockthatisformed due to transformation of original rock by high heat
and pressure.

Explain why atmospheric pressure changes with altitude.
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Define each of the following mating systems.
a) Polygamous.

b) Monogamous.

a) Describe how source populations are different to sink populations as part of
a meta-population.

b) Describe how isolation affects a wildlife population.

Identify one factor that can result in habitat fragmentation.
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10 a) Identify four historic features that could be found in a woodland that would
indicate long-standing, continuous woodland cover. (4 marks)

b)  Give two reasons why deadwood should be retained within a woodland. (2 marks)

11 Describe the differences in vertical structure between an active wood pasture and
a coppice with standard woodland. (6 marks)

o+ 5 See next page +
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12 Explain how ecotones in a woodland benefit wildlife. (3 marks)
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13 Forarecently acquired woodland, discuss how a range of surveys could be undertaken
to highlight the physical and biological characteristics of the woodland. (12 marks)

+ 7 End of examination +



